# **INVOICE**

## **Supplier Details**

### **Wholesale Squad Ltd**

27 Old Gloucester Street, Central London,

WC1N 3AX

**Phone:** +447786776980

Email: contact@wholesalesquad.co.uk
Website: wholesalesquad.co.uk
Company Number: 12988425
VAT Number: 478 8734 22



Invoice Date

February 10,

2025

Invoice

INV-0000452

Number Order

100452

Number

#### **Customer Details**

#### **Faisal Khan**

**Company Name: LowPricePhones Ltd** 

260 Wickham Lane,

London, SE2 0XS

http://www.lowpricephones.com **Email:** lowpricephones@hotmail.com

**Phone:** +447923464508 **Company Number:** 15925873

Service	Hrs/Qty	Rate/Price	Tax	Total
Samsung Galaxy A01	20	£55.00	20%	£1,100.00
Condition: New Factory Sealed Colour: Black Storage Size: 16Gb Carrier: Factory Unlocked Model: Sm-A015F/Ds				
Samsung Galaxy A03s	20	£70.00	20%	£1,400.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: Sm-A037F/Ds	>			
Samsung Galaxy A13 (5G)	20	£75.00	20%	£1,500.00
Condition: New Factory Sealed Colour: Black Storage Size: 64Gb Carrier: Factory Unlocked Model: Sm-A136B				
Samsung Galaxy A14 (5G)	20	£85.00	20%	£1,700.00
Condition: New Factory Sealed Colour: Black Storage Size: 64Gb Carrier: Factory Unlocked Model: Sm-A146B/Ds				
Samsung S21 (5G)	5	£200.00	20%	£1,000.00
Condition: New Factory Sealed Colour: Purple Storage Size: 128Gb Carrier: Factory Unlocked Model: Sm-G991B				

Service	Hrs/Qty	Rate/Price	Tax	Total
Samsung S21 (5G)	3	£200.00	20%	£600.00
Condition: New Factory Sealed Colour: White Storage Size: 128Gb Carrier: Factory Unlocked Model: Sm-G991B				
Samsung S21 (5G)	7	£200.00	20%	£1,400.00
Condition: New Factory Sealed Colour: Grey Storage Size: 128Gb Carrier: Factory Unlocked Model: Sm-G991B				
Samsung Galaxy S21+ (5G)	5	£205.00	20%	£1,025.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Sm-G996B/Ds				
Samsung Galaxy S21+ (5G)	5	£205.00	20%	£1,025.00
Condition: New Factory Sealed Colour: Aura Glow (Silver) Storage Size: 128Gb Carrier: Factory Unlocked Model: Sm-G996B/Ds				
Samsung Galaxy S21+ (5G)	5	£205.00	20%	£1,025.00
Condition: New Factory Sealed Colour: Purple Storage Size: 128Gb Carrier: Factory Unlocked Model: Sm-G996B/Ds				
Samsung Galaxxy S22	15	£235.00	20%	£3,525.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Sm-S901B/Ds				
Samsung Galaxy Note 20 Ultra (5G)	20	£285.00	20%	£5,700.00
Condition: New Factory Sealed Colour: Black Storage Size: 256Gb Carrier: Factory Unlocked Model: Sm-N986B				
Apple iPhone 11	5	£230.00	20%	£1,150.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: A2221				
Apple iPhone 7 Plus	5	£115.00	20%	£575.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: A1784				
Apple iPhone 7 Plus	5	£115.00	20%	£575.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: A1784				

Service	Hrs/Qty	Rate/Price	Tax	Total
Apple iPhone 8 Plus	5	£140.00	20%	£700.00
Condition: New Factory Sealed Colour: Space Grey Storage Size: 128Gb Carrier: Factory Unlocked Model: A1897				
Huawei P30 Lite	20	£75.00	20%	£1,500.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Mar-Lx1A				
Huawei P30 Lite	20	£75.00	20%	£1,500.00
Condition: New Factory Sealed Colour: Blue Storage Size: 128Gb Carrier: Factory Unlocked Model: Mar-Lx1A				
Huawei P20 Pro	20	£85.00	20%	£1,700.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Clt-L29				
Huawei P30	20	£135.00	20%	£2,700.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Ele-L04				
Huawei P30	20	£135.00	20%	£2,700.00
Condition: New Factory Sealed Colour: Blue Storage Size: 128Gb Carrier: Factory Unlocked Model: Ele-L04				
Huawei P Smart 2019	20	£65.00	20%	£1,300.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Pot-Lx1				
Huawei P Smart 2019	20	£65.00	20%	£1,300.00
Condition: New Factory Sealed Colour: Blue Storage Size: 128Gb Carrier: Factory Unlocked Model: Pot-Lx1				
Sony Xperia L4	10	£90.00	20%	£900.00
Condition: New Factory Sealed Colour: Black Storage Size: 64Gb Carrier: Factory Unlocked Model: Xq-Ad52				
Sony Xperia L3	10	£70.00	20%	£700.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: I3312				

Service	Hrs/Qty	Rate/Price	Tax	Total
Sony Xperia L2	10	£68.00	20%	£680.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: H4311				
Sony Xperia XA1	10	£65.00	20%	£650.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: G3116				
Sony Xperia XA2	10	£75.00	20%	£750.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: H4113				
Sony Xperia XA2 Ultra	10	£99.00	20%	£990.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: H4213				
Sony Xperia 10ii	20	£135.00	20%	£2,700.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Xq-Au51				
Sony Xperia 10iii	10	£170.00	20%	£1,700.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Hq-Bt52				
Sony Xperia 10IV (D/S)	15	£189.00	20%	£2,835.00
Condition: New Factory Sealed Colour: Black Storage Size: 128Gb Carrier: Factory Unlocked Model: Xq-Es72				
Sony Xperia 10IV (D/S)	5	£189.00	20%	£945.00
Condition: New Factory Sealed Colour: White Storage Size: 128Gb Carrier: Factory Unlocked Model: Xq-Es72				
Sony Xperia ZX Premium	10	£110.00	20%	£1,100.00
Condition: New Factory Sealed Colour: Black Storage Size: 64Gb Carrier: Factory Unlocked Model: G8142				
Sony Xperia XZ1	10	£90.00	20%	£900.00
Condition: New Factory Sealed Colour: Black Storage Size: 64Gb Carrier: Factory Unlocked Model: G8341				

Service	Hrs/Qty	Rate/Price	Tax	Total
Sony Xperia XZ1 Compact	10	£130.00	20%	£1,300.00
Condition: New Factory Sealed Colour: Black Storage Size: 32Gb Carrier: Factory Unlocked Model: G8441				
Sony Xperia XZ2	10	£105.00	20%	£1,050.00
Condition: New Factory Sealed Colour: Black Storage Size: 64Gb Carrier: Factory Unlocked Model: H8266				
Sony Xperia XZ2 Compact	10	£140.00	20%	£1,400.00
Condition: New Factory Sealed Colour: Black Storage Size: 64Gb Carrier: Factory Unlocked Model: H8324				

 Sub-Total
 £55,300.00

 VAT 20%
 £11,060.00

 Invoice Total
 £66,360.00

 Total Due
 £66,360.00

Thank you for your order

At **Wholesale Squad** we pride ourselves on our customer satisfaction. Therefore if you ever have any issues with an order please feel free to get in touch, so we can help resolve any problems.

Wholesale Squad Ltd Sort code: 30-98-97 Account No: 84885863

**IBAN:** GB47LOYD30989784885863

**BIC:** LOYDGB21031 Reference: Inv No.

Wholesale Squad LCC Sort code: TBC Account No: TBC IBAN: TBC BIC: TBC

Reference: Inv No.

## **BACs payment via Bank Transfer [0% Fee]**

Company Name: Wholesale Squad UK Company No. 12988425 VAT Number: 478 8734 22

Company Name: Wholesale Squad LLC US Company No. Pending